O7(3).3 (mod 5)

blocks | defect matrix
a1 1 2 16 x 14
92 1 5x4
3 1 5 x4
4 0 3001 = x8,0, ¥8,0
5 0 3002 = x8.1, ¥8,1
6=5 0 3003 = xs8,2, ¥s,2
7 0 22751 = X12,0, ¥12,0
8 0 22752 = X12,1, P12,1
9=18 0 22753 = X12,2, P12,2
10 0 68251 = X13+, P13+
11 0 94501 = x23,0, ¥23,0
12 0 94502 = X23,1, ¥23.1
13 =12 0 94503 = 23,2, P23,2
14 0 175501 = X24,0, ¥24,0
15 0 175502 = x24,1, 24,1
16 =15 0 175503 = X24,2, 24,2
17 0 182001 = X25,0, ¥25,0
18 0 182002 = Xx25,1, V25,1
19=18| 0 182003 = x25,2, P252
20 0 182004 = X26,0, ¥26,0
21 0 182005 = x26,1, ¥26,1
29 = 9271 0 182006 = x26,2, ¥26,2
23 0 546001 = X274, P27+
24 0 702001 = X304+, P31+
25 0 702002 = X33+, P34+
2 0 273001 = x37,0, 37,0
27 0 273002 = x37,1, P37,1
28=27| O 273003 = x37,2, P37,2
29 1 5x4
30 0 1228501 = X444, Paa+
31 0 1228502 = X474, Qa7+
39 0 546002 = X59,0, ¥59,0
33 0 546003 = X59,1, 59,1
34=33| 0 546004 = X59,2, ¥59,2
35 0 1638001 = X604, P60+
36 0 1638002 = X634+, P63+
37 0 4914001 = X69+, P66+
38 0 1842751 = X72,0,¢75,0
39 0 1842759 = x72,1, ©75,1
40=39| 0 1842753 = X722, P75,2
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5928251 = X734, P76+
2187001 = 82,0, ¥79,0
2187002 = 82,1, ¥79,1
2187003 = x82,2, ¥79,2
2457001 = x89,0, ¥86,0
2457002 = x89,1, 86,1
2457003 = x89,2, ¥86,2
2912001 = X96,0, ¥87,0
2912002 = x96,1, 87,1
2912003 = 96,2, ©87,2
2912004 = Xx97,0, ¥88,0
2912005 = Xx97,1, 88,1
2912006 = Xx97,2, ¥88,2
8736001 = x98+, P89+
3328001 = X101,0, ¥92,0
3328002 = X101,1, 92,1
3328003 = Xx101,2, P92,2
9984001 = X102+, P93+
4914002 = x111,0, ¥97,0
4914003 = x111,1, P97.1
4914004 = X111,2, P97,2
7168001 = X113,0, ¥98,0
7168002 = Xx113,1, 98,1
7168003 = x113,2, P98,2
7168004 = X114,0, ¥99,0
7168005 = X114,1, 99,1
7168006 = X114,2, ¥99,2




Block 1: | p10 1,1 @12 Po+ P16,0 ©Pi6,1 P16,2 30,0 ©30,1 30,2
11 =Xx10 1 .
Io =x11 1 .
I3 =x1,2 . 1
U5Ti=vos | 1 1 1 1 .
28081 = X16,0 1 .
28082 = X16,1 1 .
28083 = X16,2 . . 1 .
241921 = X36,0 1 . 1 1 .
241922 = x36,1 1 . 1 1 .
241923 = X36,2 1 1 . . . 1
1397761 = X504+ . 1 1 1 . .
1990171 = X66+ 1 1 1 1
12579841 = X105+ . .
5314411 = x112,0 1 . 1 .
5314412 = x112,1 1 . 1 .
5314413 = x112,2 1 1
(Block 1:) | 050+ ®96.0 %961 96,2
11 =x1,0 w10 = 11
lo = x11 p11 = Lo
13 =x12 p12 = 13
24571 = Xo+ por = 2454,
28081 = x16,0 p16,0 = 2808;
28082 = x16,1 p16,1 = 28082
28083 = x16,2 p162 = 28083
241921 = X36,0 ©¥30,0 — 217371
241929 = X361 p30,1 = 21737,
241923 = X36,2 . @30,2 = 217373
1397761 = x50+ 1 P50+ = 131352,
1990171 = X664+ 1 . Y960 = 3755444
12579841 = X105+ 1 1 1 1 96,1 = 3755442
5314411 = x1120 1 1 . Yos2 = 3755443
5314412 = X112,1 1 1 .
5314413 = X112,2 1 1




Block 2:

P2+ P20+ P53+ P2+

7801 = Yot
163802 = x20+
].474201 = X53+
5686202 = X79+
6988802 = X86+

1

1 . 1

Block 3:

P5+ P17+ P56+ P69+

7805 = Y54
163801 = x17+
].474202 = X56+
5686201 = X764+
6988801 = X83+

1

1 . 1

Block 29:

P38+ P41+ P80+ P83+

873601 = X38+
873602 = X41+
7862401 = X90+
7862402 = X93+
1397760, = Y108+

1

1 . 1

P2+
Y20+
P53+
P72+

P5+
P17+
P56+
$69+

P38+
Pa1+
P80+
¥83+

7804
163804
146640,
552240,

7802
163804
146640,
552240,

87360,
873602
698880,
6988804



